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(3) RAEHKE
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F—L4 f, |FELS| 1E | 2E | 3E | 4E | 5E | 6E | EE | TOTAL
S [i) A AN R v 0 1 1 0 3 0 1 6
TIVT 7
switch Y 1 0 0 2 0 2 0 5
F—L4 i, |FELS| 1E | 2E | 3E | 4E | 5E | 6E | EE | TOTAL
SR [ A AN R v 1 4 0 0 0 0 - 5
N—H
Be Brave Y 0 0 2 1 1 3 - 7
FJUR2
F—L4 #, |FELS| 1E | 2E | 3E | 4E | 5E | 6E | EE | TOTAL
T i) A 7R D R 0 0 0 2 X X - 2
TINT 7
T i) A 7R D Y v 3 3 2 0 X X - 8
75 R—
F—L4 5 | FELS | 1E | 2E 3E | 4E | 5E | 6E | EE | TOTAL
switch R 0 0 0 0 - 0
Be Brave Y v 1 1 1 1 X X - 4
7 K3
F—L4 . | FELS | 1E | 2E 3E | 4E | 5E | 6E | EE | TOTAL
T[] A 7R R 0 0 2 0 0 X - 2
N—H
switch Y v 2 3 0 2 1 X - 8
F— 24 % |FELS| 1E | 2E | 3E | 4E | 5E | 6E | EE | TOTAL
Be Brave R 0 0 0 0 - 2
T i) A AR 7> Y v 1 1 1 3 0 X - 6
TIVT 7
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F—2 % |FELS| 1IE | 2E | 3E | 4E | 5BE | 6E | 7E | 8E | EE | TOTAL
T x AL | R 4 0 0 2 0 0 0 1 X - 3
Tz VaA
sparkle Y 1 1 0 3 2 3 0 X - 10
F—2 % |FELS | 1E | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
EAHFRLZA|R 0 0 0 0 0 2 X o 2
T—h
m.c.c Y 4 2 1 3 1 1 0 X X - 8
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F—2 # |FELS | 1E | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
m.c.c R v 0 2 3 0 1 3 3 - 12
anekko Y 0 0 0 1 0 0 0 - 1
F—L4 % |FELS| 1IE | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
sparkle R 0 0 0 1 0 2 0 - 5
EATFRAL| Y| vV 1 1 2 0 1 0 0 1 - 6
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F—L4 % |FELS| 1IE | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
sparkle R v 1 0 2 0 0 0 0 - 5
m.c.c Y 0 1 0 1 1 1 0 - 6
F— 24 % |FELS| 1IE | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
Ty AL R 1 0 3 1 2 1 0 X - 8
Tz VadA
anekko Y v 0 3 0 0 0 0 2 X - 5
U R4
F— 24 % |FELS| 1IE | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
anekko R 0 0 4 0 2 2 X - 8
EATRZAL|Y| vV 3 1 0 1 0 0 - 4
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F—2 % |FELS| 1IE | 2E | 3BE | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
m.c.c R v 2 0 2 0 2 0 0 0 - 6
T x ALY 0 1 0 1 0 2 2 - 8
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F—2 % |FELS | 1E | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
EAHFRLZA|R 1 0 0 1 0 0 0 X - 2
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T ALY v 0 1 1 0 1 1 1 X - 5
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F—2 # |FELS | 1E | 2E | 3E | 4E | 5E | 6E | 7E | 8E | EE | TOTAL
anekko R 0 1 0 0 0 1 0 - 2
sparkle Y v 2 0 1 1 2 0 5 — 11




